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Firstly, for he admitted - 7177 RPT NTR

OVERVIEW

The X713 is discussing a case of an 791X who was pregnant. 701 17 ruled that there
i1s no concern; firstly because the 01 was 77 and furthermore because she is
believed to claim *n%y2a1 qwos.

It is not clear whether the issue is the child; if he is 7w or a 7mn (Po0), or if the
i1ssue is the 701X 017X; if they are permitted to rejoin with each other, since she is
a anPTY WOR DWX Po0.

It is also not clear what is the meaning of 'T¥' ‘and furthermore’. Does it mean
even if he 1s not 777, or does it mean even if his 77 is ineffective. Moo will be
discussing these issues.
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It is possible for us to explain that we discussing whether the 701X is

forbidden to marry the ©Y9R. The issue here is since the 701X had a child; therefore it is
possible that someone other than the ©17% fathered the child. If that were the case then the 7017X
would be 770K to the 017X. She is a married woman who committed adultery and is therefore
forbidden to return to her husband (as well as to the adulterer). 701 27 however ruled that there is

no concern and she may return to her 917X husband.
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And this is the explanation of the ruling; firstly, she is permitted to return to the
01X for he admits that he had relations with her and he is the father of the child
(and no other), therefore she is not forbidden to the 017X; we believe him and
assume that she had no relations with anyone else, and furthermore 7737 29
stated, etc. that she is independently believed.

moon will now explain what is meant by "1, ‘and furthermore’” —
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The meaning of '79' is not to be understood, that even if the 017X was not 77,

she is still permitted to him. This is not so —
= 0¥ NIONIT XUV N7 1IN ONY

For if the 017X is not 7777 that he had relations with her, and she is with child, then

! The reason this interpretation is chosen (despite some difficulties) may become apparent at the conclusion of this
moon. See footnote # 14.
* The term "7, ‘furthermore’ (generally) means that even if this is not so, nevertheless the ruling is valid.
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it is obvious that she is prohibited to him. He is not 77 that he fathered the child;
obviously someone else did. This makes her (certainly from the perspective of the D17X) an
adulteress, an 7NITY WX NWR, who is 7925 770K, since RO RT ROONM OWOIR 7NW0.
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But rather we are to understand the "1™ as if it was stated, even if the reason
of 717 is not effective; it is not sufficient cause to permit her to rejoin the 01X —

Mmoo continues to explain why '77%' may not be sufficient cause to believe him —
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for instance according to 2Rk mentioned in the end of madN =mp,>  who
maintains (according to 27) that even if we know that the 7017%1 017X had relations
the child is still a 71an, for since she was wanton with the 919K, she was also

wanton with anyone else and the child is a 7mn. Similarly 772 itself would not be a

sufficient cause to permit her to the So1 —
= DAY 13539 939 W29 19 DNIDNI)N 1295 NINNIT DIVN 1PIY NN NN 91 179N

Nevertheless she is not forbidden to the 017X because she is believed that she
had relations exclusively with the 017X; as 3''% maintains that a woman is believed
to claim °n%ya1 7w3%. This is how we could have interpreted the X3, and this is
how the 5''9 actually explained this X723 to us.

In Summation; the >"1 " is that ' means even if we agree with (277 X2°9X) »ax that the
admission of the 017X (that he had relations with the 7017R) in insufficient (for 121 77pPoRTA),
nevertheless, since she also maintains that she had relations only with the ©1& she will be
believed since the 715977 is like 3. It would then turn out that if the woman maintains she was not
mam, she is believed even according to (277 X2°9R) »aX. (See footnote # 7.)

mooin takes issue with the above interpretation:
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And it is impossible to sustain this interpretation, for according to the s""-

? The term 7195 supplants the simple meaning (that even if he was not 771, etc.) with a more complicated meaning
(that even if 777 is not effective, etc.). See footnote # 10.

* See footnote # 13.

3 2,00 MMY; see previous two ("X77) X771 7" X7 77 N1OIN.

6 »ax utilizes the X120 of 77PoX™ to explain 27 W, why the 721 is a “mn. Therefore here too (even though the 01X
701X are already married to each other, nevertheless) the X720 of 77poX7n implies that she was 70T °X7 and
therefore (A 7217 and) ©17K? 710K, However according to Xmw even if we assume that the 771 is a *pinw (before
the 7p>72) it is not because we assume positively 77poX7», but rather it is a 790, which can make the child into a
*?nw; however it will not be able to prevent the 11011 017 from rejoining. The 1w, therefore is for 2K according
to 17 only. See: ‘Thinking it over’.
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words it would therefore follow that when (277 X2°9X) "2 stated that since she

was wanton with the 017X, she was wanton with others as well —
= 99X AT N NN P72 NHWVWA 139N

that is limited to a case where the mother was not investigated; for if the mother
was asked and she replied I had relations only with the 019X she is believed,” and

this is not so; (277 X2°5X) »ax cannot maintain that if the 7017X claims that the child is from the
17X, that she is believed —
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For »ax (in nn2° noon) is referring to the dispute between »Xy2w 29, which is
established in 7v17p noon that what YX1w meant when he said that the child is a

PINw, is that he is a 3?Y73; meaning that we question the mother and accept her claim that
the child is from the 01IX. This implies that 27 (who argues with 2X1n%) maintains that the child
(even a>M721) 1s a amn®

mooin qualifies his difficulty with the "3 w7s:
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However, according to our reading of the text in WP nNO0n, which is, ‘an
7098 who became pregnant’ (indicating that we are not certain that the 01X
701X had relations); and not 101K v X377 (which indicates that we know that the
7017X) 017X had relations), there is no difficulty at all. According to this X073 the only
time *2X maintains (according to 17) that the child is a 717 even if X DX P72 is when we are
not aware that the 701X 01X had relations. However in our X°210 where the 019X is 17,
everyone will agree that her claim combined with his 77 is sufficient to believe them. However

according to the other text, that 9X1wY 27 are disputing (even) in a case of \NOITX Y X273, then the
'"737' is difficult to understand.

mooIn offers an alternate explanation:
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Therefore it is necessary to explain that we are not discussing here whether to
prohibit the 017X from the 017X, but rather to validate the child; that he is not a

" The point of the 7w according to the >3 w1 is that even according to ax that the 77 is ineffective
nevertheless her testimony is effective; this is tantamount to saying that according to *2X she is believed.

¥ The point of the "1 according to the >" ws is that even according to »ax who maintains that 777 is insufficient
(since 21 01X "23? AWD1 PORTN), nevertheless if she corroborates his 771 they are believed. »axr does not accept the
771" (only) according to 27 (who maintains that the child is a 71n). According to 17, however, the child is a 2mn
even if the 017X corroborates the testimony of the 017X. This is the np1?nn between X1 27 when we assume that
the *pInw *Rn (of 2R1MW) is a °P173, and nevertheless 27 argues and maintains that he is a 7mn. There seems to be no
point in the "1 See: ‘Thinking it over’.

? See previous X177 71"7 2,3 MOOMN.
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a0 but a R WO —
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And now the "7 assumes the obvious interpretation; firstly that the 01X was
7712, and ‘furthermore’, meaning, that even if he was not ;7712; ns01n immediately
interjects to explain what is meant by the statement ‘he was not 771’ —
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And 'n7n RY' certainly does not mean that he claims the child is not from him,
since he had no relations with the 7017X. It cannot mean that; for in such a case
(where the 017X contradicts the 71017X) 3''9 does not maintain that the child is 2w>,
since it is a case of a "3 (of the 017X who claims he did not father the child) which
contradicts a 992 (of the 017X who claims that the 017X fathered the child); in a case of 721 °72

then even 2" agrees that we do not believe her —
- 3 949 vra MNNTD

as the X n) states in the beginning of the second 99, therefore 771 11X cannot mean
that he is denying the relationship —
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But rather 777 11°X means for instance if the 017X died or that he is not present
before us that he can be asked. That is what 701" 21 states '"71' that even if the 01X does

not corroborate that he fathered the child, nevertheless the child is 7w> according to 1", since she
claims that the 017X is the father (and there is no °72 to contradict her).13

mooIn anticipates a difficulty:
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And the reason the X713 shortly considers this to be case of 727 (that it already
happened). Seemingly this is a case of 79°1n3%; we are deciding whether this child may marry a
ORI, it is not a case of 72¥°73, where he already married and we want to know if they can
remain married (as it is according to the 1y wID).

mooIn responds:

' See footnote # 3.

" mooin does not say here as he did previously 19y nqoxi7 xwws; for there (according to the *"9) we were
discussing the 12K of the 7017X) 01X, therefore since he is not 7717, she is certainly 1%¥ 770K for X2°nm PWOIR TN
X710°7. However here we are discussing the 79, where there is no &30 of "1 woIR 7w, nevertheless the 771 will
not be W2, since she is not NINX1 in a case of *121 °72.

12,10 1am5.

"> We obviously cannot have this interpretation of "1 according to the *" w15, where we are discussing if she is
017X? nnn. The 01X is obviously present. We can ask him whether they had relations or not. That is why the "1
was forced to interpret the 73" in the manner he did (that it means according to »2X).

' See footnote # 1.
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For the child may not be permitted to ever marry a Jewess (if he is a “mn po0) -
= NN YYD NIPINTIT MON NN 17°9N)

And he is even forbidden to marry a nam»mn, for 771077 92 he is a 9w 791 (we are not

certain whether he is a 1% or not —
:[**9N9912 1299 N9 Prayrt »nh SN

Therefore in such a case (where the child may not be able to ever marry anyone),
it is considered as a 72y>72, where the ruling is according to 3''9 that she is nxa.

SUMMARY

According to the "7 the issue at hand is whether the 701X 019X are permitted to
rejoin. The "T¥' means even if we maintain that his 777 is ineffective. M»oIN
maintains that the issue is whether the child is 7%7w°% 7w and the 7% means even
if the 017X is not present to corroborate what the 701X claimed.

THINKING IT OVER

Moo questions the >". If the T refers to »2X, then the fact the she is testifying is
meaningless, for according to »ax the 791 is a 7mn (according to 27) even if the
mother testified.

The "M however is according to Xmw (not according to 27)" and indeed
according to ?X1w the child is 7w (even according to *2X) if the mother testifies,
and if not he is a ’pmw.lg

5 In the 7"mn it reads; 315 7997 729772 KT

'® As mentioned previously, the last three mooIn beginning with 01X X717 are bracketed and are an addendum to the
original NN,

17 qov 21 stated 121 XMW K " MK KT TN,

' See v? MK 7"2101 2p¥° N2, Alternately see footnote # 6.
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